101 1 I 7 . b h2 G . X
C9912 C9913 @ =h @ =h ® =h @ =b
2 3 2 3 3
O] 7 h|g
@ 40 25 2B 3 8 8 X mm?* 3
@ 1.47 x 10° G
® @ 9.38 x 10’ - b
| | e
10 ® 5.27 x 107 s
@ 2.51 x 1¢° T .
@ 2.5 mi {0
_|._
2 1. HSmm >~
® mN @ N'm ® uN @ kg-m/s® 8 Ly 4
2 2 2 800N 600N N (  sin30°=0.5, cos 30°=0.866) 4 9 '
© 200 ] ©) (proportiona limit) - N
@ 720 - .
h @ - (ultimate strength)
® 1,000 : . _
® ' ® (brittle) (yield strength)
1,400 2 ©) (yielding) (necking)
4 10.
L . X ©) @
ol ® @1 (hp) 1kW
3 3 3 100N 0 N-m \\\‘“n- N 4 11 1 225mm MPa
© 539 e ® 10.5 15 kN/m o
@ 500 \ @ 205 l
® 460 3 B ® 305 | E
@ 200 Im @ 40.5 o ¢ ‘
O 2.5 m 2.5m |
b
. 2 12 12 H (W460% 68) Z(section modulus) 129 x 10°mm?
— M 258kN-m 300MPa ( s =M)
2 4 4 600N P N Z
® 150 ’ " ® 1.0 15.4 mm
®@ 200 gL @15 -—
® 300 ®20
l‘l’ B 5 4.14 mm
® 600 4 @ 25 12 459 mm
L W460 = 68
e A
"'Jl |-——15~1. mm—-|
L
-
L i 2 13 12m/s 9.8m/s”
m ( sind5°=0.707 45° )
15 5 50kg P 200N 0.3 7.4 @ 14.7 ® 20.8 @ 294
0.2 10 m/s? N
® 100 P 2 14. 14 ) r m mass moment of inertia 0.4mr?
® 200 0.5m
® 300 Z @ @
® @
2 6. 100mm 99.8mm (norma
strain)

® +0.002 @ -0.002 ® +0.002mm @ -0.002mm



1 20
® 6N

3 21
©)
)

4 22

(potentia energy)
(Hooke' s law)

(spring constant)

10N
@ 8N

22 F=100N

® 260N>mO
® 260N>m O

3 23
o2

3 24
® 15
@ 2.62
® 313
@ 4.62

2 25
® 200
@ 250
® 425
@ 500

3 26

01

1 27
mg g

®.20R

@3
24

25

@2

@ \gR

@
@
@
@
® @
@ X y
@
8N
® 10N @ 221N
@)
@
(-1,3) m
®@ 100N O F=100N
@ 100 NXm O
4
22 3
(-11 3)
10 200m m/sec?
®4 @5
A m
by | B e N LT a5l N
24 tﬂ1 { 1
L L6 m —-L 12 m sf—2m J
N>m
500N
25
1m
30°
500N
®3 @ 4
(m/sex)
®0 @ 2,/0R

a (m/sec?)
® 981
@ 14.25
3 21.38
@ 28.50

1 29

®x=0

3 30 30
P=10kN

@ 4

@5

®6

@7

3 3L (bolt)

10 kg

©) (principa stress) @

2 33 (Mohr’ scircle)

® =b%d

4 35 100 cm
(Poisson’ sratio)
@ 0.06

36-37

2.5cm

@ 0.12

1 36 6m

© 54

4 37.
®0

4 38
O]
®

2 39 39 3
W3=2kg (x3¥3)=(2,2)
® 15
® 20

4 40.
O]

@ 60

1m
@ 12

(strain)
o(

)0.5

(C.G)

0.1

® 0.20

12 kN/m
® 72

® 18

@
©)

99 cm

P=200N
28
R
30°
@xt0 yto
t =25 MPa
30 | ji S
LD
T
P<- ]
bl P
N
©)
(normal stress)
A Y
©)
d o) » X
b
34
2.506 cm
@ 0.24
KN xm
@ 108
@ 24

Wi=2kg (X1,y1)=(1,0) Wo=1Kkg (X2y2)=(3,0)

x

@18
@25

©) (dimensionless)



